ARE A



udiiaarda A g Aisae e

1 = T 1S (Sholel Th)

2(1+1)=138

3 = 3R HH

3Y (7 o ST = 37T (42 TEM; 1,260 f&; vk woa 37K
THAT, SR 3N GHF'' = TR HT 37, T T GHE, 9feTeT FHi
ST 34 Q)

4 = gfe 1 3iw (e 3, T i)

5 (10 o1 3T1=) = Hifhe dref

6 (7 - 1) = 3TqU (TF, B, STHH)

7 (3 +4) = ot (dfer Hegoid)

10 = HE Fegoiar (aftqurar = wrmef)

12 (3 x 4) = =it FEqurd

24 (2 x 12) = HiHE TEUIT 1 S

40 (4 x 10) = TS TR T FEIOIT

42 (}€@ 3%)

144 (12 x 12) = HfHen FEIOIT ST TR

666 (T 6) = TYULAI, TF, T 3T STHETA Sl TS

1,000 (10 x 10 x 10) = FEIUAT ! T ! FHIUrAT

1,260 (3T 3%)

1,600 (4 x 4 x 10 x 10) = HAF TR T Ui

7,000 (7 x 1,000) = FUIAT I FEAT

12,000 (12 x 1,000) = HEUIT 1 I

1,44,000 (144 x 1,000) = HEUIT &1 TG

20,00,00,000 (2 x =g 10) = 3757 Tt

1,00,00,00,000 31X 37fereh = 3T, AFET 90A T T
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